Accelerated Geometry CC Name: A

Rational Funhctions Review Date: Period:

Gtate the domain, holes, vertical and horizontal asymptotes, slant asymptote, and intercepts for
each rational function.
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3. Gtate the domain, holes, vertiCal ahd horizontal asymptotes, Slant asymptote, ahd intercepts
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, :
R R LLE) () ok |1
(x X -2) B
Domain:  X€ 2 -4 e
. Soal b/
HO'GSZ moy’] £_ : /
AL -8 B A l. b Jl, :
VA: x = 2“ @ 2 L.
g YU &
HA X S -6
oA y=X > X-2|x%-2%x-3 e Inr
G XL' lx f ...... j <0 /|
Xt (3,0) 4 b1, 0) =

Y-Int: (O, 3/2.\




Accelerated Geometry CC Name:

TRational Functions Review Date: Period: _____
Simplify.
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